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Sr Questions Answers Choice

1 For Industrial development:

A. Energy is basic need
B. Nothing is required
C. Land and water is basic need
D. Means of transportation are basic
need

2 U.S.A, Japan, Germany, France and United Kingdom are:

A. Most advanced countries of the
world
B. Backward countries of the world
C. Developing countries of the world
D. Advanced countries of the world

3 India, Pakistan, Brazil, North Korea, South Korea and China are:

A. Extremely backward countries of
the world
B. Developing countries of the world
C. Advance countries of the world
D. Most Advance countries of the
world

4 Mongolia, Ethiopia and Afghanistan are world's:
A. Most advanced countries
B. Advanced countries
C. Developing countries
D. Extremely backward countries

5 Industrial Revolution started in U.K in:
A. Eighteenth century
B. Sixteenthcentury
C. Seventeenthcentury
D. Twentiethcentury

6 Industrial Revolution started in the world from:
A. Indian Sub-continent
B. United Kingdom
C. China
D. U.S.A

7 For cane sugar manufacturing raw material is:
A. Prepared artificially
B. Imported from abroad
C. Obtained from agriculture sector
D. Obtained from mineral sector

8 After melting Iron ore is converted into:
A. Pig Iron
B. Steel
C. Cast Iron
D. Stainless Steel

9 After industrial processing lint (cotton fiber).
A. Is preserved
B. In stored in godowns
C. Is brought into factory
D. Is brought into ginning mills

10 In home small scale industry, goods are manufactured:
A. At small scale
B. At large scale
C. For local needs
D. For international market

11 After Industrial Revolution, in the world:
A. Markets flooded with goods
B. Production increased slowly
C. Goods availabitlity became slow
D. Quality of goods became inferior

12 After industrial processing, raw material is used:
A. In its natural form
B. In its unnatural form
C. In the form of manufacturings
D. In the shape of usable goods

13
Industry is an activity, in which we transform raw material:

A. Into usable products
B. Into unusable products

C. Into industrial products
D. For use of people

14 Industrial manufacturing is man's:
A. Secondary economic activity
B. Primary economic activity
C. Quaternary economic activity
D. Quinary economic activity

A. Asia



15 Which continent is very thinly populated:
A. Asia
B. Europe
C. Africa
D. Australia


